	Department of Public Works and Highways (DPWH)
Funds Available: Subject to the provisions of Executive Order No. 91 s.2019 LIHE AL RECAMADAS Accountant III	Contract ID : 25HC0071 Contract Name : CONVERGENCE AND SPECIAL SUPPORT PROGRAM:BASIC INFRASTRUCTURE PROGRAM (BIP): ACCESS ROADS AND/OR BRIDGES FROM THE NATIONAL ROAD/S LEADING TO MAJOR/ STRATEGIC PUBLIC BUILDINGS/ FACILITIES - CONSTRUCTION OF ROAD, BRGY LAPACAN SUR (INABANGA, BOHOL) TO BRGY PANGHABAN (BUENAVISTA, BOHOL) Location of the Contract : INABANGA & BUENAVISTA, BOHOL CONTRACT AGREEMENT KNOW ALL MEN BY THESE PRESENTS: JUN 0.2 2025
ľ	This CONTRACT AGREEMENT , made this day of 20 by and between:
Intractor: RL EARTH HAULING & EQUIPMENT SERVICES, UC.JOINT VENTURE WITH N.N YU COMPUTION, INC. IDA RV PANE ALCORDO Clion Proprietor	The <u>GOVERNMENT OF THE REPUBLIC OF THE PHILIPPINES through the DEPARTMENT OF PUBLIC</u> WORKS AND HIGHWAYS, BOHOL 2nd DISTRICT ENGINEERING OFFICE, UBAY, BOHOL represented herein by FERNANDO J. TALAGSA OIC-District Engineer, duly authorized for this purpose , with main office address at Bood, Ubay, Bohol, hereinafter referred to as the "PROCURING ENTITY". and RL EARTH HAULING & EQUIPMENT SERVICES, INC JOINT VENTURE WITH N.N YU CONSTUCTION, INC., a single proprietorship and existing under and by virtue of laws of the Republic of the Philippines, with main office address at Door 5 Taloto Tourist Apartment, P. Castillo St., Taloto District, Tagbilaran City, 6300 Bohol represented herein by RV PAUL D. ALCORDO. Authorized Representative/Proprietor/Manager,duly authorized for this purpose,
AUL VITH	hereinafter referred to as the "CONTRACTOR".
Contractor: RL EARTH NC.JOINT VENTURE IN A. PELARADA	WHEREAS, the PROCURING ENTITY is desirous that the CONTRACTOR executes the Works under Contract ID No. 25HC0071-CONVERGENCE AND SPECIAL SUPPORT PROGRAM:BASIC INFRASTRUCTURE PROGRAM (BIP): ACCESS ROADS AND/OR BRIDGES FROM THE NATIONAL ROAD/S LEADING TO MAJOR/ STRATEGIC PUBLIC BUILDINGS/ FACILITIES - CONSTRUCTION OF ROAD, BRGY LAPACAN SUR (INABANGA, BOHOL) TO BRGY PANGHABAN (BUENAVISTA, BOHOL) hereinafter called "the Works" and the ~ PROCURING ENTITY has accepted the Calculated Bid of the CONTRACTOR for the execution and completion of the Works at the calculated unit bid prices shown in the attached Bill of Quantities, or a total Contract Price of NINETY EIGHT MILLION EIGHT HUNDRED NINETY NINE THOUSAND ONE HUNDRED SEVEN PESOS & 50/100 (P98,899,107.50). NOW, THEREFORE, for and consideration of the foregoing premises, the parties hereto
	agree as follows:
chief, chief	1. In this CONTRACT AGREEMENT, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereafter referred to.
by:	2. The following documents shall be attached, deemed to form, and be read and construed as part of this CONTRACT AGREEMENT, and shall be interpreted in the following order of priority:
The Government of the Republic of the Philippines (Department of Public Works & Highways) by: TERNARDOJ: ALAGSA OIC-District Engineer	 a. This Contract Agreement b. Documents forming part of the Contract Agreement: Notice of Award (NOA) with the Contractor's signed "conforme" Contractor's Bid in the Form of Bid, including its Technical and Financial Proposals, as calculated by the Procuring Entity and conformed by the Contractor through NOA. Bidding Documents with Bulletins Specifications Drawings Special Conditions of Contract (SCC) General Conditions of Contract (GCC) Performance Security Integrity Pledge under Department Order No.86, series of 2013 Other Documents
 DPWH-INFR-51-20	page 1 of 8

Department of Public Works and Highways (DPWH)

Executive Order No. 91 s.2019 LITO A. RECAMADAS Accountant III	Contract ID Contract Name Location of the Contract	 25HC0071 CONVERGENCE AND SPECIAL SUPPORT PROGRAM:BASIC INFRASTRUCTURE PROGRAM (BIP): ACCESS ROADS AND/OR BRIDGES FROM THE NATIONAL ROAD/S LEADING TO MAJOR/ STRATEGIC PUBLIC BUILDINGS/ FACILITIES - CONSTRUCTION OF ROAD, BRGY LAPACAN SUR (INABANGA, BOHOL) TO BRGY PANGHABAN (BUENAVISTA, BOHOL) INABANGA & BUENAVISTA, BOHOL (a) Contruction Methods (b) Construction Schedule in the form of DEDT/CEM Disperse and
_		(b) Construction Schedule in the form of PERT/CPM Diagram or

- (c) Manpower Schedule(d) Construction Schedule
- (e) Construction Safety and Health Program initially approved by the Head
- of the Procuring Entity
- (f) Contractor's All Risk Insurance (CARI)

In consideration of the payments to be made by the PROCURING ENTITY to the CONTRACTOR as hereinafter mentioned, the CONTRACTOR hereby covenants with the PROCURING ENTITY to execute and complete the Works and remedy any defects therein in conformity with the provisions of this CONTRACT AGREEMENT in all respects.

In consideration of the execution and completion of the Works by the CONTRACTOR, the PROCURING ENTITY hereby covenants to pay the CONTRACTOR the unit prices in the CONTRACTOR'S Calculated Bid, as applied to the actual quantities accomplished as certified by the PROCURING ENTITY under the provisions of this CONTRACT AGREEMENT at the times and in the manner prescribed by this CONTRACT AGREEMENT.

Item No.	Description	Quantity	Unit	Unit Cost	Total Amount
PART A	FACILITIES FOR THE ENGINEER				
A.1.1 (8)	Provision of Field Office for the Engineer (Rental Basis)	6.03	mo.	11,340.00	68,380.20
A.1.1 (14)	Provision of Laboratory Testing Equipment, Apparatus and Publications for the Engineer	1.00	L.S.	185,850.00	185,850.00
A.1.1 (16)	Operation & Maintenance of Field Office for the Engineer	6.03	mo.	10,900.00	65,727.00
PART 8 C	THER GENERAL REQUIREMENTS				
B.5	Project Billboard/Signboard	3.00	each	4,010.00	12,030.00
B.7(2)	Occupational Safety and Health Program	1.00	L.S.	344,736.00	344,736.00
B.8(1)	Traffic Management	6.03	mo.	50,000.00	301,500.00
B.9	Mobilization/Demobilization	1.00	L.S.	262,500.01	262,500.01
	EARTHWORKS				
100(3) a1	Individual Removal of Trees (Small, 150-300mm Dia.)	30.00	ea	940.50	28,215.00
101(8)	Removal of Existing Guardrails	447.00	l.m	837.00	374,139.00
101(9)	Removal of Existing Guardrails Post	179.00	each	520.00	93,080.00
102(2)	Surplus Common Excavation	37,087.00	m³	225.00	8,344,575.00
103(1)a	Structure Excavation (Common Soil)	71. 30	m³	1,311.00	93,474.30
104(1)a	Embankment from Roadway Excavation(Common Soil)	22,420.00	m³	450.00	10,089,000.00
PART D	SUBBASE AND BASE COURSE				
200(1)	Aggregate Subbase Course	9,628.00	m³	1,055.00	10,157,540.00
PART E	SURFACE COURSE			···	
311(1)c1	Portland Cement Concrete Pavement (Unreinforced), 0.23 m thick, 14 Days	22,694.00	m²	1,954.00	44,344,076.00
PART G	DRAINAGE AND SLOPE PROTECTION STRUCTURE	is 🛛			
404(1)a	Reinforcing Steel, Grade 40	6,326.17	kg	95.00	600,986.15
404(1)b	Reinforcing Steel, Grade 60	2,481.00	kg	131.00	325,011.00
405(1)a3	Structural Concrete, 20.68MPa, Class A 28 Days	67.95	m³	9,868.00	670,530.60
405(1)b3	Structural Concrete Class A, 27.58MPa (28 days)	22.02	m³	10,137.00	223,216.74
500(1)b1	Pipe Culverts, 610 mm dia., Class IV, RCPC	85.00	l.m	4,500.00	382,500.00

SCOPE OF WORK

DPWH-INFR¹51-2016

Funds Available:

Sontractor: RL EARTH HAULING & EQUIPMENT SERVICES,

The Government of the Republic of the Philippings

(Department of Public Works & Highways)

š

UC.JOINT VENTURE WITH N.N YU CONSTUCTION, INC

CORDO

RV PAUI

3.

4.

page 2 of 8



Contract ID Contract Name

Location of the Contract

25HC0071 CONVERGENCE AND SPECIAL SUPPORT PROGRAM: BASIC INFRASTRUCTURE PROGRAM (BIP): ACCESS ROADS AND/OR BRIDGES FROM THE NATIONAL ROAD/S LEADING TO MAJOR/ STRATEGIC PUBLIC BUILDINGS/ FACILITIES -CONSTRUCTION OF ROAD, BRGY LAPACAN SUR (INABANGA, BOHOL) TO BRGY PANGHABAN (BUENAVISTA, BOHOL) TNABANGA & BUENAVISTA BOHOL

Item No.	Description	Quantity	Unit	Unit Cost	Total Amount
500(1)b3	Pipe Culverts, 910 mm dia., Class IV, RCPC	25.00	l.m	7,020.00	175,500.00
505(2)a	Grouted Riprap (Class A)	2,400.00	m³	5,750.00	13,800,000.00
506(1)	Stone Masonry	60.00	m³	6,750.00	405,000.00
PART H	MISCELLANEOUS STRUCTURES				······
612(1)	Reflectorized Thermoplastic Pavement Markings (White)	959.50	m2	1,051.00	1,008,434.50
612(2)	Reflectorized Thermoplastic Pavement Markings (Yellow)	258.00	m2	1,060.00	273,480.00
624(9)a2	Single Arm Solar LED Roadway Lighting, 9m-Pole, 80W-125W	31.00	ea	202,246.00	6,269,626.00
				TOTAL	98,899,107.50
5.	For contract duration of One Hundred Eighty (One (181) ca	lendar o	lavs inclusive of	26 predertermined

For contract duration of One Hundred Eighty One (181) calendar days inclusive of 26 predertermined unworkable days due to unfavorable working conditions.

Pursuant to the provision of Republic Act No. 6685, the Contractor is required to hire at least fifty percent (50%) of the unskilled and thirty percent (30%) of the skilled labor requirements from the unemployed bonafide and actual residents in the province, city and municipality who are ready, willing and able as determined by the governor, city mayor or municipal mayor concerned where the projects are to be undertaken. The Contractor shall submit to the "ENTITY" as among the requirements for every progress billing, a certificate of compliance with the above requirement duly sworn to, including a list of names of residents hired from the locality where the project was undertaken,

The provisions on liquidated damages under Section 68 and Paragraph 8 of Annex "E", both of the R-IRR of R.A. No. 9184, are hereby incorporated and deemed to form part of this CONTRACT AGREEMENT. The amount of liquidated damages shall be equal to one tenth (1/10) of one percent (1%) of the cost of the unperformed portion of the works for every day of delay.

The PROCURING ENTITY shall terminate a contract for default when due to the contractor's fault and after the contract time has expired, it has incurred a negative slippage of ten percent (10%) or more in the completion of the work;

Slippage of more than 30 days from the contract duration shall result in non payment, cancellation of the contract agreement, blacklisting of the contractor and the entry of new contractor who will finish the project;



DPWH-INFR-51-2016

optractor: RL EARTH HAULING & EQUIPMENT SERVICES, NOTTON, INC. C.JOINT VENTURE WITH N.N YU PA Z

6.

7.

8.

Chief.

OIC-District Engineer

Subject to the provisions of

Funds Available:

11 s.2019

LITO A. RECAMADAS

Accountant III

Construction

The Government of the Republic of the Philippines

(Department of Public Works & Highways



Contract ID Contract Name

Subject to the provisions of Executive Order No. 91 s.2019

Funds Available:

EARTH HAULING & EQUIPMENT SERVICES,

a d

Contractor:

The Government of the Republic of the Philippines

(Department of Public Works & Highways) by

OINT VENTURE WITH N.N YU CONSTL

THON, INC

AFRECAMADAS

011

ALCORDO

roprieto

Construction Sed

Chief,

13.

iccountant III

10.

: 25HC0071

: CONVERGENCE AND SPECIAL SUPPORT PROGRAM:BASIC INFRASTRUCTURE PROGRAM (BIP): ACCESS ROADS AND/OR BRIDGES FROM THE NATIONAL ROAD/S LEADING TO MAJOR/ STRATEGIC PUBLIC BUILDINGS/ FACILITIES -CONSTRUCTION OF ROAD, BRGY LAPACAN SUR (INABANGA, BOHOL) TO BRGY PANGHABAN (BUENAVISTA, BOHOL)

Location of the Contract : INABANGA & BUENAVISTA, BOHOL

- The Implementing Rules and Regulations of the R.A. 9184, P.D. 1759, other existing laws, decrees, executive and administrative orders, department orders/circulars issued by proper authorities affecting government construction projects as well as the guidelines for the completion and payment of Price Escalation on infrastructure contracts adopted and approved by the Government, shall be made and formed as integral part of this Contract;
- 11. The CONTRACTOR shall pay taxes in full and on time and that failure to do so will entitle the Government to suspend payment for the contract;
- 12. The CONTRACTOR shall likewise regularly present within the duration of the contract, a tax clearance from the BIR as well as a copy of its income and business tax returns duly stamped received by the BIR and duly validated with the tax payments made thereon;

Within thirty (30) days from receipt of the Notice to Proceed, the CONTRACTOR shall immediately comply with and/or do the following: (1) Submit As-staked plan which has already been approved by the ENTITY; (2) Provide the facilities for the ENTITY's engineers, if any, is required under the "Scope of Work" portion hereof; (3) Provide the ENTITY's with a Service Vehicle, if any, is required under the "Scope of Work" portion above; (4) Deploy all the manpower and equipment units pledged; (5) Submit approved Revised PERT/CPM together with the As-Staked Plan; and (6) Conduct testing on materials to be used in accordance with the DPWH Blue Book. The CONTRACTOR understands and accepts that, without all of the above having been submitted, provided, and/or complied with, the ENTITY shall, except if allowed by the same due to justifiable reasons, not process or permit any advance payment and/or progress billing. In addition, the ENTITY may impose other sanctions provided under R.A. No. 9184 and its R-IRR.

Once the project reaches an accomplishment of nine (90%) of the total contract amount, the CONTRACTOR shall, in writing, inform the ENTITY of such percentage of accomplishment as well as request therein that the project be preliminary inspected by the latter. Immediately after receipt of such written notice and request, the ENTITY's Inspectorate Team shall conduct a preliminary inspection and submit to the CONTRACTOR, in preparation for the final turn-over of the project, a punch-list which, as stated in Section 7 of Annex "E" of the R-IRR of R.A. No. 9184, shall, among others, indicate the remaining works, work deficiencies for necessary corrections, and the specific duration/time to fully complete the prject considering the approved remaining contract time. This, however, shall not preclude the ENTITY's claim for liquidated damages.

DPWH-INFR 51-2016

ALAGSA

OIC-District Engineer

-- page 4 of 8



Contract ID Contract Name

Subject to the provisions of Executive Order No. 91 s.2019

Funds Available:

Contractor RI EARTH HAULING & EQUIPMENT SERVICES, INCARINT VENTURE WITH N.N YU GONSTUCTION, INC.

The Government of the Republic of the Philippines

(Department of Public Works & Highways) by:

LITO AL RECAMADAS

ALCORDO

RV PAUL D. Proprietor

٢

onstruction Section

Chief.

15.

Accountant III

14.

25HC0071 CONVERGENCE AND SPECIAL SUPPORT PROGRAM: BASIC INFRASTRUCTURE PROGRAM (BIP): ACCESS ROADS AND/OR BRIDGES FROM THE NATIONAL ROAD/S LEADING TO MAJOR/ STRATEGIC PUBLIC BUILDINGS/ FACILITIES -CONSTRUCTION OF ROAD, BRGY LAPACAN SUR (INABANGA, BOHOL) TO BRGY PANGHABAN (BUENAVISTA, BOHOL)

Location of the Contract : INABANGA & BUENAVISTA, BOHOL

If upon the CONTRACTOR's assessment, the project has already reached an accomplishment of 100% of the total contract amount, it shall immediately inform the ENTITY in writing of such completion and request therein that a final inspection be conducted by the latter for the issuance of a Certificate of Completion pursuant to DPWH D.O. No. 101, Series of 2005. Upon the recommendation of the ENTITY's Project Engineer and the receipt of the said written request from the CONTRACTOR, the ENTITY, through its Inspectorate Team, shall conduct a final inspection of the project to determine whether said project has been satisfactorily completed in accordance with the Plans and Specifications of the Contract. Immediately thereafter, the ENTITY's Inspectorate Team shall submit to the Regional Director a report on the inspection conducted. If in the report it is found that the project has been completed in accordance with the Plans and Specifications of the Contract and the Regional Director is satisfied with such finding, the latter shall then immediately issue, in favour of the CONTRACTOR, a Certificate of Completion on accordance with DPWH D.O. No. 101, Series of 2005. However, if in the report it is found that the project has remaining works to be accomplished and/or defects to be rectified, the ENTITY shall immediately inform the CONTRACTOR thereof which shall then carry out the necessary works and corrections.

The project shall be deemed to be actually completed on the day of, and only after, the issuance by the ENTITY of said Certificate of Completion. Accordingly, if there are delays in the implementation of the project or remaining works left after the contract period has expired, the computation of liquidated damages shall be up to the day of issuance of said Certificate of Completion shall be the reckoning point in the running of the Defects Liability Period.

The ENTITY's Inspectorate Team, upon written request of the CONTRACTOR made at least thirty (30) days prior to the expiration of the Defects Liability Period, or motu proprio, shall conduct an inspection of the project, pursuant to DPWH D.O. No. 101, s. 2005, to determine whether the project is free from failures and defects which are traceable to poor workmanship, use of poor quality materials and non-compliance with Plans and Specifications of the Contract, In the event that no such defects will be found, the ENTITY's Inspectorate Team shall issue an Acceptance Report pursuant to DPWH D.O. No. 101, s. 2005. Upon receipt of said Acceptance Report, the CONTRACTOR shall then, unless it has already previously submitted the same, submit to the ENTITY, a warranty security in accordance with Section 62.2.3 of the R-IRR of R.A. No. 9184. The Regional Director, after finding to be satisfactory the Acceptance Report issued as well as the Warranty Security submnitted, shall then issue a Certificate of Acceptance in accordance with DPWH D.O. No. 101, Series of 2005. However, if there may be found such failures and defects, the CONTRACTOR, after notification of the existence of such failures and defects, shall immediately rectify the same. Only if such failures and defects have been properly rectified or corrected to the satisfaction of the ENTITY shall an Acceptance Report be issued.

The CONTRACTOR understands and accepts that the running of the warranty period for the subject project shall be reckoned from the day of issuance by the ENTITY of the Certificate of Acceptance for the same.

page 5 of 8



J-FALAGSA

OIC-District Engineer



It is understood that among the obligations which the CONTRACTOR has to fulfill in order that this CONTRACT AGREEMENT be deemed as consummated is its submission of all warranty securities required under DPWH D.O. No. 101, s. of 2005 (which states that "the warranty bond shall be renewed every year until the end of the warranty period") and Section 62.2.3. of the R-IRR of R.A. No. 9184. In addition, the CONTRACTOR understands and accepts that" (1) as per DPWH d.o. nO. 101, s. of 2005, the "(n) onrenewal of the warranty shall be a ground for suspension and/or blacklisting of the contractor"; and (2) its failure to update and submit the required complete warranty security shall be deemed as an act under Section (III) (A) (2) (C) (iii) of GPPB Resolution 03-2011 dated January 28, 2011 ("flagrantly neglects to carry out its obligations under the contract"), in which case, the CONTRACT AGREEMENT may be terminated by the ENTITY.

Anent the matter of IROW Acquisition if any, the Contractor acknowledges and accept that: (a) the project's IROW Acquisition Component and the Civil Works Component are contained in the same GAA and are likewise released simultaneously; (b) IROW Acquisition Process required a considerable period to accomplish and thus, requires sufficient lead time; (c) however, the project's funding expires 1 year from the passage of the GAA and also, there is a mandate that INFRASTRUCTURE funding should be obligated within the first quarter of the calendar year; (d) there, is thus, a need to implement simultaneously the two aforementioned project components.

Additionally, the Contractor acknowledges that (a) projects with IROW Acquisition Components include, among its pay items, the demolition of structures and obstructions; and (b) unlike regular and usual writs of posession, writs of possession under R.A. No. 8974 do not need a sheriff in order that possession of affected structures be placed under the possession of the Implementing Agency and that thus, demolition be already commenced with as the aforesaid law clearly states that "the court shall immediately issue to the Implementing Agency an order to take possession of the property and start the implementation of the project."

Accordingly, the Contractor is obligated to immediately demolish the structure concerned and start the implementation of the project as regards that area upon receipt from the Implementing Agency of a copy of the write of possession (expropriation) or enty permit (negotiated sale), whichever is applicable. Likewise, the Contractor acknowledges and accepts that suspensions of work due to existing right of way problems under Item 9.2 (a), Annex "E" of the IRR of R.A. No. 9184 is still subject to the consent and approval of the Implementing Agency.

DPWH-INFR-51-2016

Subject to the provisions of

16.

17.

Funds Available:

rl earth hauling & Eouipment

Contractor:

The Government of the Republic of the Philippings (Department of Public Works & Highwarks) by:

SERVICES, INC.JOINT VENTURE WITH N.N YU

CONSTUCTION

4

ALCORDO

RV PA

Construction Se

Chief

OIC-District Engineer

page 6 of 8





Department of Public Works and Highways (DPWH)

Contract ID: 25HC0071Contract Name: CONVERGENCE AND SPECIAL SUPPORT PROGRAM:BASIC INFRASTRUCTURE
PROGRAM (BIP): ACCESS ROADS AND/OR BRIDGES FROM THE NATIONAL
ROAD/S LEADING TO MAJOR/ STRATEGIC PUBLIC BUILDINGS/ FACILITIES -
CONSTRUCTION OF ROAD, BRGY LAPACAN SUR (INABANGA, BOHOL) TO
BRGY PANGHABAN (BUENAVISTA, BOHOL)

Location of the Contract : INABANGA & BUENAVISTA, BOHOL

IN WITNESS WHEREOF, the parties hereto have caused this **CONTRACT AGREEMENT** to be executed the day and year first before written.

Signed, sealed, delivered by FERNANDO J. TALAGSA the OIC-District Engineer (for the Entity)

Signed, sealed, delivered by **RV PAUL D. ALCORDO**, the Proprietor (for the CONTRACTOR)

REPUBLIC OF THE PHILIPPINES DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS

(THE PROCURING ENTITY)

FERNANDO S. TALAGSA

OIC-District Engineer

WITNESS: For the Implementing Office: RODRIGO S. BERNALDEZ

OIC-Chief, Maintenance Section (Witness)

Funds available: Subject to the provisions of Executive Order No. 91 s.2019

LITO A RECAMADAS Accountant III

Approves this _____ JUN 0 5 2025

Proprietor For the Contractor:

(THE CONTRACTOR)

PFI ARADA Chief, Construction Section (Witness)

----- page 7 of 8

RV PAÚL D. ALCORDO

RL EARTH HAULING & EQUIPMENT.

SERVICES, INC.JOINT VENTURE WITH N.N YU CONSTUCTION, INC

DPWH-INFR-51-2016

Department of Public Works and Highways (DPWH)

Contract ID Contract Name

xacutive Order No. 91 s.2019

Accountant III RECAMADAS

ALCORDO

PAU

RV

CONSTUCTION, INC.

Drieto

Subject to the provisions of Funds Available:

Contractor; RL EARTH HAULING & EQUIPMENT SERVICES, INC.JOINT VENTIGER WITH N.N YU : 25HC0071 CONVERGENCE AND SPECIAL SUPPORT PROGRAM: BASIC INFRASTRUCTURE PROGRAM (BIP): ACCESS ROADS AND/OR BRIDGES FROM THE NATIONAL ROAD/S LEADING TO MAJOR/ STRATEGIC PUBLIC BUILDINGS/ FACILITIES -CONSTRUCTION OF ROAD, BRGY LAPACAN SUR (INABANGA, BOHOL) TO BRGY PANGHABAN (BUENAVISTA, BOHOL)

Location of the Contract : INABANGA & BUENAVISTA, BOHOL

:

REPUBLIC OF THE PHILIPPINES PROVINCE OF BOHOL

ACKNOWLEDGEMENT

BEFORE ME, as the Notary Public for the within the Municipality of Valencia Bohol, personally appeared FERNANDO J. TALAGSA, OIC-District Engineer, representing the REPUBLIC OF THE PHILIPPINES (Department of Public Works and Highways), with Residence Certificate No. 22 888 750 issued on January 7, 2025 and RV PAUL D. ALCORDO, Proprietor, representing RL EARTH HAULING & EQUIPMENT SERVICES, INC.JOINT VENTURE WITH N.N YU CONSTUCTION, INC. with Residence Certificate No. issued on

known to me to be the same persons who executed the at foregoing CONTRACT and AGREEMENT and they acknowledged to me that the same is their true act and deed for and in behalf of the parties they represented.

The instrument consists of eight (8) pages, including this page, on which this acknowledgement is written duly signed by the contracting parties and their witnesses on the left margin of the other pages.

IN WITNESS WHEREOF, I have hereunto affixed my signature and official seal this ______ 5 705 day of

blic of the Philippines	Doc. No	477
& Highwaysrby:	Page No	88
& MARTINA. PELARADA	Book No	40
Chief, Construction Section	Series of	2021
The Government of the Republic of the Philippines (Department of Public Works & Highwayeyby: (Department of Public Works & Highwayeyby: (Department of Public Works & Highwayeyby: OIC-District Engineer Chief, donsti		

ANTHONY DEI V. DALIDA, ENF ATTV NOTARY PUBLIC 2025-01-209, UNTIL DEC. 31, 2026 AR. NO. ND. **F**HL 8534884; 12/3/24 2025; ВОН 110 BP ND. 4 79211: 11 / 27 / 24 FOR 2025; BOHOI POLL NO. 67371; TIN 255-408-722-000 ALENCIA. BOHOL